June 15, 2018 1:05 PM

$$\chi' = \begin{pmatrix} 1 & 1 \\ 4 & 1 \end{pmatrix} \chi$$

$$\gamma = \frac{1+1}{2} \pm \sqrt{2^2 - 4\cdot (11 - 1\cdot 4)} = 3, -1$$

$$\xi_1 = \begin{bmatrix} 3-1 \\ 4 \end{bmatrix}, \xi_2 = \begin{bmatrix} -1-1 \\ 4 \end{bmatrix} \Rightarrow \xi_1 = \begin{bmatrix} 1 \\ 2 \end{bmatrix}, \xi_3 = \begin{bmatrix} -1 \\ 2 \end{bmatrix}$$

$$X = C_1 \begin{pmatrix} 1 \\ 2 \end{pmatrix} e^{3t} + C_2 \begin{pmatrix} -1 \\ 2 \end{pmatrix} e^{-t} \sim \begin{pmatrix} 1 \\ 2 \end{pmatrix} e^{3t}$$

$$= \begin{pmatrix} e^{3t} \\ 2 \cdot e^{3t} \end{pmatrix}$$

$$= \begin{pmatrix} e^{3t} \\ 2 \cdot e^{3t} \end{pmatrix}$$

$$(\frac{1}{z}) = (\frac{1}{z}) = (\frac{1}{z}) = (\frac{1}{z}) + (\frac{1}{z}) + (\frac{1}{z})$$

$$\chi(H) = (\frac{-1}{2})e^{-t} \longrightarrow (0,0)$$

$$\begin{array}{c} 2 \\ (1/2) \\ \end{array}$$

$$\begin{array}{c} \lambda_1 \\ (1/2) \\ \end{array}$$

$$\begin{array}{c} \lambda_2 \\ (1/2) \\ \end{array}$$

$$\begin{array}{c} \lambda_3 \\ (1/2) \\ \end{array}$$

$$\begin{array}{c} \lambda_4 \\ (1/2) \\ \end{array}$$

$$\begin{array}{c} \lambda_1 \\ (1/2) \\ \end{array}$$

$$XH=\begin{bmatrix}-1\\2\end{bmatrix}e^{-t}$$

$$\frac{dX}{dt} = \begin{bmatrix} -1 & 2\\ 4 & -3 \end{bmatrix} \begin{pmatrix} X\\ Y \end{pmatrix} + \begin{pmatrix} -1\\ -1 \end{pmatrix}$$

$$=Ax+e$$

1)
$$\chi = (onstantsh.) \frac{d\chi}{d\chi} = 0$$

2)
$$Ax+e=\begin{pmatrix} 0\\0 \end{pmatrix} \rightarrow Ax=-e$$

$$\rightarrow$$
 $\times = A^{-1}(-e)$

$$\frac{dX_{hm}}{dt} = \begin{bmatrix} 1 & -2 \\ 4 & -3 \end{bmatrix} \begin{pmatrix} X_{hn} \\ Y_{hm} \end{pmatrix}$$

1)
$$\lambda = \frac{1-3}{2} \pm \sqrt{4-4} \cdot (-1)$$